o(0 @) (rad)

=
<

a(d cot(d))

1072

H
N
T T

9 J..U;)_ :
I I
: : ¢ @ L : : :
1 T T I | :| | w0t T
09232 AL 0 1 2 3 09232 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_ttbarPU_mkFit_5iter
—e— DQM_ttbarPU_mkFit_5iter_updatedPR111_update
—— DQM_ttbarPU_mkFit_5iter_updatedPR111_update_fixPropagation
=~ 1 =~ 1=
= : £ F::
2 e C
B =
5 S
5 ©
1072 107t
1072 1072
910;§||||| .910\—135
T r | | | | T
A TR g |
AL i
0953 T 0 1 2 3 0953 T 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ 1z
E_ |
"
o
o
5
107t
1072
o sl L 1 | A P
5 HENTT e Al
© H” | |5||| H“H
I G
095375 T 2 3

TP n (PCA to beamline)



	Contents
	Page 1


